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INSTRUCTIONS :

1. | This test-booklet contains total 80 questions. All
questions are compulsory. The booklet is bilingual.
In case of any dispute, English version will be
considered as final.
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2. | The test-booklet consists of 24 pages, including the
cover sheet. Count the number of pages and
questions before attempting the questions.
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3. | The blank space in the test-booklet may be used
for rough work.
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4. | Each question is followed by four alternatives.
Select only one, which you consider as the most
appropriate. Shade the relevant circle against the
corresponding question number on the OMR
answer sheet. Selecting more than one answer for
a question, even if one of the selected answers is
correct, would result in its being treated as an
incorrect answer.
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5. i) Each correct answer will carry 2 marks.
ii) Wrong answers will carry negative marks of
-0.5 each.

1i1) Questions not attempted will carry no mark.
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6. | This booklet has three sections:

Part A — Language Proficiency —20 Questions
Part B —Teaching Aptitude — 30 Questions
Part C —Reasoning Ability —30 Questions
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7. | The merit list will be based on 60% weightage to
entrance examination marks; and 40% weightage
to qualifying examination marks.
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8. | Responses should be marked on the OMR answer-
sheet only. No answer should be written on the test-
booklet
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PART - A
Language Proficiency
(Expected Answering Time: 20 Minutes)
Direction: (Question No. 1-5)

Read the following passage carefully and answer the questions given below it:

What is immediately needed today is the establishment of a World Government or an International
Federation of Mankind. It is the utmost necessity of the world today, and all those persons who wish to
see all human beings happy and prosperous naturally feel it keenly. Of course at times, we all feel that
many of our problems of our political, social and cultural life would come to an end if there were one
Government all over the world. Travellers, businessman, seekers of knowledge and teachers of
righteousness know very well that great impediments and obstructions are faced by them when they pass
from one country to another, exchange goods, get information, and make an effort to spread their good
gospel among their fellow-men. In the past, religious sects divided one set of people against another,
colour of the skin or construction of the body set one against the other. But today when philosophical
light has exploded the‘darkness that was created by religious differences, and when scientific knowledge
has falsified the theory of social superiority and when modern inventions have enabled human beings of
all religious views and of all races and colours to come in frequent contact with one another, it is the
governments of various countries that keep people of one country apart from those of another. They
create artificial barriers, unnatural distinction, unhealthy isolation, unnecessary fears and dangers in the
minds of the common men who by their nature want to live in friendship with their fellow-men. But all
these evils would cease to exist if there were one-government all over the world.

1. What is the urgent need of the world today?
(1) The establishment of an international economic order
(2) The establishment of a world government
(3) The creation of a cultured international social order
(4) The raising of an international spiritual army
2. The people who face impediments and obstructions when they part from one country to another and do a
lot of good jobs are all the following except
(1) travellers
(2) businessmen
(3) seekers of knowledge
(4) empire builders
3. What divide/divides people of one country against another?
(1) Different religions
(2) Different languages
(3) Different social and political systems of different people
(4) Government of various countries
4. Which of the following problems has not been mentioned in the passage as likely to be solved with the
establishment of World Government?
(1) Social problems
(2) Political problems
(3) Cultural problems
(4) Economic problems
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5. In the past, religious sects
(1) united the people with one another
(2) divided one set of people from another
(3) did a good job by way of spreading message of love and peace
(4) interfered in political affairs
6. Which of the following is opposite in meaning to ‘awesome’?
(1) Mundane
(2) Astounding
(3) Overwhelming
(4) Stunning
7. Choose the appropriate option similar in meaning to the underlined word in the sentence below.
She had the impertinence of pointing at me that I take bribes.
(1) Refinement
(2) Politeness
(3) Impudence
(4) Impatience
8.Which of the following is the appropriate meaning of the idiom ‘An admirable Crichton’?
(1) One who never takes any risk.
(2) One who excels in all kinds of pursuits and studies.
(3) One who listens to everyone’s advice
(4) One who takes defeats in good spirit.
9.Choose the correct option to make a meaningful sentence.
She still
P- and really sat down to the job
Q- if she could get back the notes
R- believed that
S- she could complete her research
(1) RPSQ
(2) SPQR
(3) RSQP
(4) RQPS
10. Choose the correct option that is in Positive Degree of the sentence given below.
He is the best student of our class.
(1) He is the only good student of our class.
(2) He is good and no other student is like him.
(3) No other student in our class is as good as he.
(4) In our class he is the good student.

Direction: (Question No. 11-15)

Read the Passage below and answer the questions that follow.

Cultural intelligence or cultural quotient (CQ) is a term used in education, academic research and world
of administration. Cultural intelligence is ‘the capability to relate and work effectively across cultures’.
Originally, the term cultural intelligence and the abbreviation “CQ” was developed by Soon Ang and
Linn Van Dyne as a research-based way of measuring and predicting intercultural performance. The
term is relatively recent: early definitions and concepts were given by P. Christopher Earley and Soon
Ang in the book *Cultural Intelligence: Individual Interaction Across Cultures’ and more fully developed
later by David Livemore in the book ‘Leading with Cultural Intelligence’.

According to Earley, Ang and Dyne, cultural intelligence can be defined as *a person’s capability to adapt

as s/he interacts with others from different cultural regions and has behavioural, motivational and meta
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cognitive aspects. Without cultural intelligence, both business and military actors seeking to engage
foreigners are susceptible to mirror imaging. CQ is measured on a scale, similar to that used to measure
an individual’s intelligent quotient (IQ). People with higher CQs are regarded as better able to
successfully blend into any environment, using more effective business practices than those with a lower
CQ. CQ is assessed using the academically validated assessment developed by Linn Van Dyne and Soon
Ang. Both self-assessments and multi-rater assessments are available for the purpose. Research
demonstrates that CQ is consistent predictor of performance in multicultural settings.

11. Which of the following best defines Cultural Intelligence?
(1) Itis cultural quotient used in education and academic research.
(2) It is related to behavioural, motivational and Meta cognitive aspects.
(3) Itis the ability to adapt to the people from different cultures during interaction.
(4) Itis an indicator of intercultural performance.
12. Tools for assessment of CQ were developed by
(1) Soon Ang and Linn Van Dyne _
(2) P. Christopher Earley and Soon Ang
(3) Linn Van Dyne and David Livemore
(4) David Livemore, Earleyand Van Dyne
13. As per the passage, people with higher CQs can
(1) be innovative
(2) deliver effectively.
(3) perform better in all spheres of life.
(4) conduct business practices more effectively.
14. According to research findings, CQ consistently predicts the performance of an individual in
(1) an academic setting.
(2) a multicultural setting.
(3) a formal setting.
(4) a business enterprise.
15. Who among the following is credited for fully developing the concepts, definitions etc of Cultural
Intelligence or CQ?
(1) David Livemore
(2) Soon Ang
(3) P. Christopher Earley
(4) Linn Van Dyne

In the following passage, some of the words have been left out. First read the passage over and try to

understand what it is about. Then select the most appropriate words from the options below to fill in the

blanks.
Someone (16) at the door. A lady opened it. A stranger was standing in the
(17)___ . Hesaid, “Madam please excuse me for (18) you. May I ask you something? (19)
by your house everyday on my (20) to work, I have noticed that every day you hit your son on
his head with a loaf of bread.
16.
(1) pointed
(2) knocked
(3) looked
(4) moved
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17.
(1) fence

18.
(1) disturbing

19.
(1) wait

20.
(1) office

(2) gate
(3) compound
(4) door

(2) harassing
(3) asking
(4) enquiring

(2) watch
(3) stand
(4) pass

(2) steps
(3) legs
(4) way

CEE - 2022

6|



PART - B
Teaching Aptitude
(Expected Answering Time: 40 Minutes)

21. Which of the following statement is 7. Aol & & S-ar Fu= 98t 22

correct?

(1) Syllabus is an annexure to the (1) UTEGET TTEI=ET FT UF AqF 2
curriculum.

(2) Curriculum is not same in all (2) =r foreror et H wrEw=AT G99 A8
educational institutions. 5

o

(3) Syllabus includes method of (3)  TTETE H &Y wE farw At % form foveqor

Teaching for the gi tent. Grer
eaching for the given conten ffr ¢ 3,
(4) Curriculum does not include methods (4) UTETHEE T qeATEA F ATF aTHT T F

of evaluation.

22. Needs of gifted children can be addressed 22 gfawremeft g==1 $t AMFITHATIAT T AT

by:
(1) giving questions that require (1) =g T (éonvergent thinking) T
convergent thinking. g
g B T97 THT FT ST THAT 2
(2) providing specific instructions to (2) AT FT 2 FA ¥ foro fEforer e
solve problems. et
(3) giving challenging tasks and (3) A TEA Eq FATAIT Fw s
iviti revent boredom. SO o fl
activities to prevent boredom S ST ER &
(4) administrating memory based tests. (4) =gt araied T w1 2T £ ST aFAT
E{
23. A creative learner is one who is: 23. TF goATeHS fovemeff ag & s
(1) ego centric (1) &% FesT 2
(2) highly intelligent (2) a=ataE gfzam
(3) capable of scoring consistently good (3) THHWT H SRIATT o= % UTA FA H
marks in tests -
“H o
(4) good at lateral thinking (4) d|Ted A (Lateral Thinking) & =1 2

CEE - 2022 7l




24. Which of the following tool(s) is/are used 24, wiHfey sEEHec ¥ A=RRATFI AT

in Formative Assessment?

i. Assignment IAFL T {353 wIrer 27
ii. Oral questions i. T
iii. Unit Test
iy, Oz ii. A o
Select the appropriate option from the iii. THTS ThET
following:
. iv. famr
EESIRIER ﬁﬁ'gqgﬁ faheq T 997 HT:
(1) Only iii (1) Fa iii
(2) 1,1i,1ii and 1v ) i, ii, iii v
(3) iandii (3) i
(4) 1, iiandiii (4) i, ii = ii
25. ‘Mind mapping’ refers to: ' 25. ‘ATEE AfHw Fr ot &
(1) drawing the picture of a mind (1) |TEE 1 e 74977
(2) researching the functioning of the (2) WTET F FF TOTAT T 9T FAAT
mind
(3) atechnique to enhance (3) TWH F=TH &1 UF TFAH
comprehension
(4) aplan of action for an adventure (4) =Tt F T F for e et
26. A competent teacher must follow which of 74, T T&w forers &1 fAw & & Y 7@ Tt
the sequence in teaching given below? FH 1 12reror 3% fore arer F<AT A1RT?
(1) Practice, Concept, Theory, and (1) s, sagron, FEE, @i ERED
Research
AT FLAT AT
(2) Theory, Research, Concept, and (2) forzm, oTTer, AU, T AT FT
Practice
T F7AT AT T
(3) Concept, Theory, Practice, and (3) FFuTeun, g, e, AT oTH FT
Research
T FAT AT R0
(4) Research, Practice, Concept, and (4) og, AEATH, ATUTOON, #T FHEia A
Th
oLy AT FIAT AT
27. Function(s) of higher education is/are: 27. 3= frem &t F14 &
i. Teaching )
ii. Research i. fareror
iii. Extension i, orrer
Select the appropriate option from the )
T iii. fa=aT< (Extension)
et & & Sy fses F1 9397 fisw
(1) Only ii (1) Fa i
(2) Onlyi 2) Faer
(3) iandii (3) i@
(4) 1,11 and iii (4) i, i i
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28.

29,

30.

31

32.

Which of the following is NOT an action
verb?

(1) Know
(2) List

(3) Draw
(4) Count

Learning disabilities can be assessed by:

(1) Aptitude test

(2) Screening test
(3) Diagnostic test
(4) Achievement test

In lesson plan, Presentation (A),
Evaluation (B), Home assignment (C),
General objectives (D), and Specific
Objectives (E) appear in the order of

(1) EABCD
(2) BACDE
(3) ECBAD
(4) DEABC

“Learning without Burden” was first
mentioned in:

(1) National Curriculum Framework
(2005)
(2) Yash Pal Committee Report (1993)

(3) Ramamurti Committee Report (1991)

(4) National Education Policy Report
(1986)

Expanded form of ROM is:

(I) Real Operating Memory

(2) Random Operating Memory
(3) Read Only Memory

(4) Read Open Memory
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28.

29,

30.

31,

32.

et ® & i wréarg R (Action
verb) & 8?7

(1) s Thara
(2 =hffrz=3a

(3) A=TiRe whE
(4) ZUAfey gL 7

975 ST §, TeIRAF (A), Te7i% (B), T2
F4 (C), araT=7 3297 (D), 3 fAforee skew

(E) F %7 # g §
(1) EABCD
(2) BACDE
(3) ECBAD
(4) DEABC

“FaT = F e F7 qad a5 Iew T
T AT

(1) T8 =t fT =ET (2005) §
(2) =orarer \fHt i frare (1993) #
(3) wrHHfT \faf i s (1991)
(4) wrodr farar ity ~are (1986) #

ROM =T fearfia &7 &
(1) Foa= st aar
(2) == At 7urET
(3) {r= AreetT FET
(4) L= A= 7y
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33.

34.

35

36.

37,

Which one of the following is an output
device?
(1) Printer

(2) Keyboard

(3) Mouse

(4) Joystick

In lesson planning, the objectives should
be written in

(1) Present tense

(2) Pasttense

(3) Future tense

(4) Any tense one likes

CIET stands for:

(1). Central Institute for Educational
Technology

(2) Central Institute for Engaging
Technology

(3) Central Institute of Educational
Technology

(4) Central Institute of Emerging
Technology

SWAYAM stands for:

(1) Study Webs of Active Learning for
Young Aspiring Minds

(2) Studying Webs of Active Learning
for Young Aspiring Minds

(3) Study Webs for Active Learning by
Young Aspiring Minds

(4) Study Webs for Active studying by
Young Aspiring Minds

UGC stands for:
(1) University Grant Commission
(2) University Grants Commission

(3) Universal Grants Commission

(4) Under-Graduate Course

CEE—~2022
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fReferfeT & & -6 seee Raa 2

) iz
)
) HTeE
) wiafes

4

34. 9TS ST § IeAT H ¥ forgr ST

35.

36.

3.

HTfq:
TAHT FTA

AR
T THE F FRET T T

1
2
3

(
(
(
(4

)
)
)
)

CIET #1 faeqa &7 &:

(1) Hed TEISIE FIT USTHRIAA S reisil

(3) e FEAEIZ A USTHIAA ZHATATS
(4) FHze TEAELE ATE THIST 2T

SWAYAM =7 faeatia &7 &:

(1) == 7= &% ufkew affr ww W
(2) TEEET q=w AIE Ulked AT ET AT
(3) T F=A W Ulked Affw A Aw
(4) == I HR U TEET At AW
St # feaia w9 8

(1) T T FHaa

(2) FTHEEE TiET FHA
(3) FATATA TTeA FHIT
(4)

4) =T YU A
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38.

39.

40.

41.

a2

Microteaching is a:

(1) method of teaching.

(2) method of teaching concept.

(3) method for evaluating teaching skills.

(4) technique for facilitating skills.

Which of the following sequence is NOT
wrong?

i. Goals, Objectives and Aims
ii. Aims, Goals, and Objectives
iii. Goals, Aims and Objectives

Select the appropriate option from the
following:

(I) Onlyii

(2) 1,11, and 111
(3) iandii

(4) iiandiu

Which of
assessment?

the following reflects

(1) computing area of a room
(2) taking weight of an object
(3) comparing handwritings of students

(4) noting speed of a car

In the context of ICT,
for i

(1) Web Based Instruction

WBI stands

(2) Web Based Introduction
(3) World Based Instruction
(4) Web Based Intelligence

For Project Method, the size of Group

- should be z

(1) About 4

(2) Any number
(3) About 25

(4) About 10
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38.

39.

40.

41.

42.

g&w faverer U

(1) forgor-fafer 21

(2) sraeTTT aET Fr forar-faty 2

(3) forgor-rare gearE 1 & 2

(4) X9 FT TIAH AT 1 THATE 2|

At § & 19 97 %9 T9d T4 87

i. e, ITLT AT AT

ii. €4, &7, ¥ ST

iii. ey, €AW aﬁ'{ EECR

At & & sog e #1737 fif:
(1) FAii

) i, ii, S iii

(3) i
(4)

4) i @i

Preforfra # & e eaia 31 zatar 82

ICT ¥ ==+ #, WBI T o7 2

(1) a9 9F FTrgHmA

(2) AT IFT TEEHA

(3) @%F AFT TeEHAA

(4) == F¥e T=forsi

T A F Rragg Fas AT
1R

(1
(2

) AT 4

) s off "
(3) =TT 25

)

(4) =TT 10
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43.

44.

45.

46.

47.

Which of the following statement is NOT
correct?

(1) Teacher may stimulate idea
(2) Books may not stimulate idea
(3) Discussion may give birth to idea

(4) Seminar may promote thinking

In the context of Communication,
arrange the following components in the
proper sequence:

(1) Source, Channel, Message, Receiver
(2) Source, Receiver, Channel, Message
(3) Source, Message, Receiver, Channel
(4) Source, Message, Channel, Receiver
Which of the following is the best
advantage of Choice Based Credit System

(CBCS)?
(1) Improving classroom attendance

(2) Shifting focus from teacher-centric to
student-centric education

(3) Helping teachers to complete syllabus
on time

(4) Reducing exam anxiety among
students

In which type of testing, the performance
of a student is compared with another
student?

(1) Criterion Reference Testing (CRT)
(2) Diagnostic Testing '
(3) Summative Testing

(4) Norm Reference Testing (NRT)

In writing multiple choice type of items,
the most important is

(1) Language

(2) Distractor

(3) Instruction

(4) Use of words

CEE=2022

43.

44.

45.

46.

47.

Ao & & 919 |1 97 987 761 82

(1) Torer fa=me 1 3=rfora #F2 7Far 2

(2) Trare fa=me 1 39fS 781 F AT
(3) wf==T fF=e Fr v T TFAT 2

(4) SRITSET HT AT AZTAT E AEHAT S

= F "o o, et geat #r sa

H sqafeaa Fi4

(1) =, ==, "eer, fefaw
(2) =, Raftee, S, J30
(3) ==, Hewr, fafaT, S
(4) =, @29, F9e, fefEe

=q13q 9 wiee fA=H (CBCS) & 99+

Ffear wraar Fetafea § & a1 872

(1) F4T & IUfRafy & qo1e

(2) forgwFa T GEmdi-Fma e O«
KaET:)

(3) forershi =T WA I ITEFA T FA H
HETTH

(4) et & alvar 1 a1 w9 F710

e w1 F Tdeer #, OF g F fAvare
(Performance) Ft T&AT gAY GTF & Fit JTAT
22

(1) ¥A™ET =5 944 (CRT)

(2) =i T

3
(4

Fgfasedia T ¥ wed foraw § qa9
GLICK M. |

(1) =TT

) FITEHF T
) HTHE HEd 90 (NRT)
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48.

49.

50.

Which one of the following is not the file
format of a video?

(1) .mp4

(2) AVI

(3) JPEG

(4) MKV

The essential characteristic(s) of test
paper is/are:

i. Reliability

ii. Validity

iii. Subjectivity

iv. Objectivity

Select the appropriate option from the
following:

(1) Onlyi

(2) 1,11, and 1i1

(3) Onlyii

(4) 1,11, and iv

Basic Education was propounded by .
(1) Rabindra Nath Tagore

(2) Mahatma Gandhi

(3) Maulana Azad

(4) Aurobindo Ghosh

CEE - 2022

48.

49.

50.

= 9 O F9-a7 T AT F1 wEd TEw
(Format) &t &7

(1) .mp4

(2) AV

(3) .JPEG

(4) MKV

T U At srfAard fAdvard &

i. Rregasaar

i, Serar

iii. sTRFICERAT

iv. FReqeraraTe

e & & Sty e w1 997 fivw
(1) Fai

(2) i, ii, = ii

(3) FaAA i

(4) i, ii, 3 iv

aftes frar __  wivafea & off |

(1) == arg &me
(2) wETHT AT
(3) HTEMT AT
(4) sfe=T ="
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PART - C
Reasoning Ability
(Expected Answering Time: 60 Minutes)

51. If ‘A’ means addition, ‘+° means 51, IR A FAFAE L, ‘+ FTALOTE, ‘4 F
multiplication, ‘1’ means division what is

the value of (3A4) = (1513) wf 9T 8, AT (344) + (151 3) F7 A -
(1) 35 (1) 35
(2) 25 (2) 25
3) 84 (3) 84
4) 18 (4) 18

52. Which number should come in place of 57 fw=ferfaT sl & 2° wm W -t g=r
‘?” in the following figure ?

AT ?
8 6 & i
4|48 | s 336 |4 s|s2)9 617 |8
7 ] 4 9
(1y 67 (1) 67
(2) 30 (2) 30
3) 32 (3) - 32
(4) 60 (4) 60
53. What can replace ‘?’ in the following 53 A=l e d 2 1= yRAeETiaT =<
Grid? W%”
| K L P
A C
I I ?
(1) A (1) A
(2) D 2) D
3) L , (3) L
4 T ' 4 T

54. Choose the correct option for ‘x’ in the 54, =i srsfa & % F forg @t RFew T+

following figure
Ly o
»H OO 6 O

(1 7 (1) 7
2) 8 (2) 8
3) 9 (3) 9
(4) 10 4) 10
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55. Find the number of quadrilaterals in the 55 fAm=foifRT srgfy & TSt i d=w s

following figure.

(1
(2)
3)
(4)

$ifsm
5 (1) 5
10 (2) 10
8 (3) 8
7 4 7

56. In certain code TEACHER is written as 56, s e # TEACHER % VGCEJGT ferar
VGCEJGT. How will CHILDREN be

written in that code?

STaT 81 ST Fre § CHILDREN #1 ¥ ferar

STQT?
(1) EKNJFTGP (1) EKNJFTGP
(2) EJKNFTGP (2) EJKNFTGP
(3) DNJFGTPO (3) DNJFGTPO
(4) DIJKNFTGO (4) DJKNFTGO
57. Given below a diagram of three circles A, 57, :ﬁ%@-{{ﬁ% FrarEfaT fT g A, Bk C

B & C inter-related with each other. The

circle A represents the class of Indians,

T g AT AT {1 g A WA F a9 A

the circle B represents the class of w=fefa #Tar §, 997 B &sAaT & a1 1 weidha

scientists and circle C represents the class
of politicians. P, Q, R, S represents

FAT § X g C TSHamsh & a1 H ¥&(4q

different regions. Select the code F@T 8l P, Q, R, S S &= = wafsha #<ar

containing the region that indicates the
class of Indian scientists who are not

81 S9 &% FT TAAT FLA AT TS FT TIT L

politicians. ST ATCE T AT F 39 a9 HY S Fav g,
ST TrStAar Tl gl

(D
(2)
3)
4

Qand S

S only

S and R only
P only
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58.

59,

60.

- 61.

One writes all numbers from 50 to 99
without the digits 3 and 7. How many
numbers have been written?

(1) 31
2) 32
(3) 40
(4) 42
Akash started his walk from his house
towards south. After walking 6 km, he
turned to his left and walked 5 km
straight. Then he walked further 3 km
after turning left. He then turned to his

left and continued his walk for 9 km. How
far (in km) is he away from his house?

(1) 3km
(2) 4km
(3) Skm
(4) 6km
If following series continues in the same

way as given, what will come in place of
question mark?

BB, FE, 11, ML, PP, ?

(1y TS

(2) ST

(3) RS

(4) SR

In a post-office, stamps of three different
denominations of Rs.7, Rs.8, Rs.10 are
available. For what exact amount (in Rs)
among the following one cannot buy

stamps?
(1 19

2) 20
(3) 23
4) 29

CEE — 2022

58.

59.

60.

61.

T sqfh 3 ST 7 siht it Hearsit # g 50
¥ 99 T Fit aeft dearerr #r forgar &1 ey

(1) 31
2) 32
(3) 40
(4) 42
ATHTL A g T AT 97 ¥ F Fhoror ¥ A<

= 11 6 Y. = ¥ a1g, 78 ST ard A
e o 5 fft. Hra =@ R 78 aTd qEa
3 feft. i< =rem e g A A gET R 9
fft. T ST ST T 98 A9 aT A e
fft. W R? ‘

(1) 3km

(2) 4km

(3) 5km

(4) 6km

7f et saer & R @ w0 9 &,
A TeaTEF (e F T I FIT A2
BB, FE, Il, ML, PP, ?

(1) TS

(2) ST

(3) RS

(4) SR

T STHEL H 7 T, 8 T i< 10 T F A+
T F o1 fefore Suersy §)| =T # & R
TIY F geq ¥ oTF feae T8 @ o1 994 57

(1) 19
2) 20
3) 23
4) 29
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62.

63.

64.

A postman walked 20 m. straight from his
office, turned right and walked 10 m.
After turning left he walked 10 m. And
then after turning right walked 20 m. He
again turned right and walked 70 m. How
far he is from his office?

(1) 20m

(2) 40m

(3) 50m

(4) 60m

Pointing to an old man, Rakesh said to his

friend Ajay “His son is my son’s uncle”.
How the old man is related to Rakesh?

(1) Father

(2) Uncle

(3) Grandfather

(4) Father-in-law

In which among the following numbers,
when written in words, the letters appear
in alphabetical order ?

(1) 90

(2) 80

(3) 50

(4) 40

CEE -2022

62.

63.

64.

T STHAT A STHET | "igr 20 He =4,
TMQ ST 3 10 e 3am T amd gea w9
7g 10 Hex s=ar § i< I 7=+ F 719 20
Hiex Iar g1 98 e & I qear § $fw 70
HYeT I g1 98 AU STFAC A FhaeT gL §?

(1) 20m
(2) 40m
(3) 50m

(4) 60m

T g3 Sq1<h $T AT SATT FLA g TFA T
Hq A= 57 F Fgr, SEET T A [T
=T 871 & =41, THer § B e &

= < 7 T # F - gear s« sish
FoigreT & foret STaeft a1 st & auf FF §
gt
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65. Below are given question figures (Top) ¢5, gg:rs]@ﬁ-ﬁ(w)aﬂ-(warfﬁ'ﬁ(:ﬁ%)?&
and answer figures (Bottom). Which . —
figure out of the answer figures should TE &) I SAFAAT H § A=A AFQ FT
come next ? AFHFA T I AT AR ?
(A) (B) © D)
(P) Q) (R) ()
(I P (1) P
(2) Q 2] @
(3) R @) R
4 S 4) S

Instructions (Q. No. 66-68 )

The diagrams given below depict various
media by which people get news. Here:
Triangle represents TV as medium
Rectangle represents Radio as medium
Ellipse represents newspaper as medium
Study the diagram given below and
answer the questions.

A (v.#. 66-68)’

H=r far mar s S difewr #ir zafar g
s g AR & gATER A §) a8
Brger ft it Areaw F w7 F qqtar

S AT FY 9reAH F w9 K q@riar g
SSTHTT THTAT TF T ATEAH % & § qQ07ar §
R T s w7 weaEe F: T A= R g
TEAT ¥ IAL N

300

66. How many people get news from TV as

well as Newspaper but not Radio?

10
50
60
100

(1)
(2)
3)
4)

CEE=2022

66. Traa At Fr St i arT & srEard |

T faery § g dRar & 782
(1) 10
(2) 50
(3) 60
(4) 100
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67.

How many people get news from all the
three media?
(1) 10

(2) 50
3) 130
4) 200

68. How many people get news exclusively
from TV media?
(1) 50
(2) 100
(3) 300
(4) 400

69. Which among the given 4 digit numbers
is exactly divisible by any number from 2
to 10
(1) 2530
(2). 2520
(3) 1260
(4) 840

70. An accurate wall clock shows 10 hrs. in
the morning. Through how many degrees
would the hour hand have rotated when
the clock shows 16 Hrs. in the afternoon?
(1) 216
(2) 190
(3) 180
(4) 144

71. Abhijit’s younger brother has high fever.
Which among the following should be the
most appropriate course of action to be
taken by Abhijit which exhibits scientific
temper?
(1) To pray for his brother’s recovery
(2) To try a home-based medicine
(3) To call an accomplished doctor
(4) To keep applying ice-bag on the

forehead of his brother
CEE - 2022

67.

68.

69.

70.

71,

fraw A & et A & gax fedt 82

(1) 10
(2) 50
(3) 130
(4) 200

e Tt 7 Fae 4T AT F R

(1) 50
(2) 100
(3) 300

(4) 400

& < 4 st Y gETs H qF FA-AT FeAr 2 ¥
10 7 F1 ey oft dear & fowrs7 82

(1) 2530

(2) 2520

(3) 1260

(4) 840

TF gl <A1 9t § 9T 10:00 5 3
AT 16:00 T F i e i & v Rft
Tt gef?

(1) 216

(2) 190

(3) 180

(4) 144

TSI & S ATS FT T SATRT gl AT
¥ TATST T GGH ITLFT ASTAH TLH0
fFrafafaa & & fi9-a7 g =nfze?

(1) ST AT FT FTEA AT 20 T AT
FTAT

(2) T I TAT F 9= FAT

(3) F=ft foor e 1 g

(4) SATH qTE F AIL T A AT FAT AT 72AT
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72. The knowledge level in a given discipline
is found to increase to two — fold in every
three years. Then by how many folds will
the knowledge level increase in 15 years?

(1) 10
2) 15
3) 30
4) 32

Direction (Question No. 73-74)

Two statements are given, the first is an
ASSERTION (A), and the second is a
possible REASON (R) of A.

The KEY is to be identified based on the
situation. '

73. A: Open Education (OE) is referred to as
ANYBODY, ANYTIME, ANYWHERE

R: OE is deemed to have transcended the
barrier of space, time, caste, creed, region
and religion

(1) Both A and R are true, R is the valid
reason of A.

(2) Both A and R are true, but R is not a
valid/complete reason behind A.

(3) Aistrue, R is false
(4) Both A and R are false

74. A: When a bowler delivers a No-ball at a
limited over match, then in the next ball
the batter gets the benefit of a FREE HIT.

R: In most of the cases the ball reaches the
batter before she/he gets to hear the ‘NO’
call from the Umpire.

(1) Both A and R are true, R is the valid
reason of A.

(2) Both A and R are true, but R isnot a
valid/complete reason behind A.

(3) Aistrue, R is false
(4) Both A and R are false

CEE - 2022

72.

13,

74.

et fw o e & s FT | g A A |
FEHT &Y AT &1 ST &, q¥ 15 a1 § 7T H0
T fohae AT % STE?

1) 10

fAer: (we7 g=AT 73-74)

3 o R T §, e T 7T (A) §, ;T
ZaT A T T 1 (R) 2

Rufr ¥ ST aT gEt I H TgAT H At
2l

A: 7 frerr (OE) Fr#rE off, w0 off, #{ &
ff, g g aFar e

R: 9 farerm =Y &, 9, STfa, €990, a6
< oot it aTaTS & ¥ AT AT

(1) AT R a7 2, R, AFT I F177 2

(2) AT REMT AT g, AfFT R, A% e 7%
e/ FTIT AL B

(3) ATEE, RTAT 2l

(4) AH¥ R AT 2

A: S1F T Fgarst S e F &= § a-ar

¥t 8, A AT AT UL Fearst F A RE #

TS faerar g1

R: SOTETA< ATHAT #, 99 Ugd {6 qoaars

Umpire it AT & F1€ NO Hie g7 ITa0/9TT,

T qeoaTST ¥ U 9gH St 2

(1) A REM0 =77 &, R, A T T F1207 2

(2) AT RS T E, AR R, A% 0= UF
Fer/TT FTI0T AL 2

(3) ATEE, RTEA 2

(4) AT R TET 8
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76.

TTs

78.

19.

What is the missing term in the sequence?
18,63, , 1025, 4095

(1) 225
(2) 235
(3) 255
(4) 275

Which fraction will appear in place
of 42 ? '

T
(D)
(2)
(3)

(4)

Nl—= =W ===

Which letter will occupy the position of
99 9

dgj, n?t, xnd, hkn

(1 o

2 p

3) g

4 t

Which pair of letters among the given

options will fill in the blank spaces?
BY, ACW, DEGK, CDE_ _

NL
MR
0Q
HG

(1)
(2)
3)
4)
Which among the given options
represents the correct combination of

four letters that fit into the blank spaces
given below:

efe_ffee fffe eefff

(1)
(2) ftee
(3) eecef
(4) feef

eefe

CEE—2022

15,

76.

it 4

78.

79.

Srofy 7 for g =T 82
15,65, , 1025, 4095
(1) 225

(2) 235

(3) 255

(4) 275

2 F T 9T F-HY B st Fige?

|»—Ab—llr\)w|p—li—lli—‘

G

‘9" ¥ T 9T FA-AT 97 (Letter) HTT?
dgj, n?t, xnd, hkn

(1) o

2) p

) q

(4) t

f2u o fasedt & ¥ F=-A7 97 (Letter) TH
e T i g FaT?
BY, ACW, DEGK, CDE_
(1) NL

(2) MR

(3) 0Q

(4) HG

e o R g faepet & & Fw-aT = St
¥ et g Ht wafha FLar g s e =
CRETAAGH

efe_ffee_fffe_eefff_

(1)
(2)
(3)
(4) feef

eefe
ffee

eeef
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80. Which among the given options
represents the correct combination of
four symbols that fit into the positions of
‘2 in ><78?2=<>>7=88?

(1) =g==
2) =<$8
(3) <=>8
@) $=<>

CEE - 2022

80. ><?8$?2=<>>7=$$?% Ruwg
faereat § T FA-TT T THHT F TGt g
1 giafAfaes s<ar & s 2 & fufa & e
(1) =%<=
(2 =<§3%

3 <=>3%
(4) $=<>
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Part- A
Language Proficiency
(Expected Answering Time: 20 Minutes)

Read the passage given below and answer the questions 1 to 3:

Professor Meadows, USA, is of the opinion that if the present growth of the population,
industrialization, environmental pollution and the plunder of natural resources continues
on the same scale, then the absolute limit of growth on Earth will be exceeded within
the coming 100 years. This would lead to a rather rapid and unrestrained drop in the
size of the population and production.

A British author holds quite a different point of view. He claims that the nature
protection movement has caused more harm than good. The danger is not of a greater
menace than that which had confronted mankind in the past Typhus and cholera, these
terrible disasters of the past, have practically disappeared in Western Europe.
Diphtheria and tuberculosis have become rare. Do not these examples from history
provide ground for hoping that the highly developed countries will succeed in coping,
rationally and in good time, with the pollution of nature which to-day horrifies us?

In this controversy the paint on the picture thickens all the more and the utterances of
politicians, scientists and journalists at times acquire an apocalyptical nature. We all
wish to clearly realize whether this anxiety is substantiated. Has the situation really
deteriorated so sharply? Perhaps man has suddenly grown wiser and begun to.think
about the consequences of his activities? Maybe the innumerable articles with their
shrieking headlines are merely a symptom of the times, while actually there is no
special danger.

It stands to reason that every century, and perhaps even every generation, has its own
“problems” and man has up till now coped with them rather successfully: otherwise life
on Earth would have ceased long ago. It would, however, be unwise on this basis to fall
into complacency.

1. The main idea of the passage is to discuss-

(1) Environment pollution in the present context
(2) Differing views on environment pollution
(3) Environment pollution through the ages

(4) Every age has its own problems

2. The British author’s view regarding environment is:

(1) The campaign for saving the environment has done much damage
(2) The damage to the environment is great but can be overcome with ease
(3) Many diseases have been eradicated in several countries
(4) Public response to the problem is horrifying
MM-3/A 2




3. Pick out the idea which is not expressed in the passage :

(1) The debate on the dangers of pollution is perhaps the greatest debate in the
history of mankind

(2) It could be that the danger to environment is overstated, but we must not
ignore it

(3) Damage to environment by pollution if unchecked will lead to lowering
the population

(4) Every generation has its own difficulties and finds ways to overcome them

4. Out of the four alternatives, choose the one which can be substituted for the
phrase-

‘A roundabout way of expression’

(1) Verbosity

(2) Talkativeness
(3) Circumlocution
(4) Loquacious

Question 5-7: Select the word or phrase which gives the closest meaning of
the idiom.

5.  “On pins and needles”
(1) On a very tight budget
(2) Nervous and anxious

(3) In an uncomfortable discussion
(4) To be a good tailor

6. “Toflogadead horse”

(1) To study late into the night

(2) To make someone work even when they are very tired
(3) To go on trying to do something when it is impossible
(4) To beat someone until they are dead

7. “To bear the brunt of”

(1) To be ready to fight

(2) To be able to bear pain

(3) To take the main force of the attack
(4) To be fiercely attacked

MM-3/A 3 [P.T.O




8. Choose the word that best completes the sentence:

Research suggests that heavy penalties do not act as a to potential
criminals.

(1) Distraction
(2) Safeguard
(3) Prevention
(4) Deterrent

9. Select the alternative which represents the correct way of writing the underlined
part as standard written English.

The process by which the community influence the actions of its members is
known as social control.

(1) Influence the action of its members

(2) Influences the actions of its members

(3) Influences the actions of their members
(4) Will influence the actions of its members

Read the passage and answer the questions 10 to 13:

Oceans cover almost three quarters of the planet. Close to 40 per cent of the world’s
population live in coastal communities, and about 61 per cent of the world’s gross
national product is produced within 100 kilometres of oceans. Sustainable use of oceans
can provide countries with food and economic opportunities in fisheries, tourism and
recreation, along with transport and trade, among others. Appropriate management of
this invaluable resource can help reduce poverty by enhancing food security and
improving the livelihoods of millions of people. However, climate change and recent
trends showing ocean acidification, eutrophication (the process by which a body of
water becomes enriched in dissolved nutrients (such as phosphates) that stimulate the
growth of aquatic plant life usually resulting in the depletion of dissolved oxygen),
environmental degradation of coastal land, and a reduction in marine biodiversity are
together exerting mounting pressures on this resource. In 2013, nearly a third (31 per
cent) of marine stocks were overfished; increasing ocean acidification levels endanger
marine ecosystems worldwide; and, by 2050, coastal eutrophication will increase in 21
per cent of major marine ecosystems. And the decreasing extent of global sea ice as
well as the increasing level of planetary warming indicate that climate change
continues, increasing the adverse impacts on the oceans and many other ecosystems.

MM-3/A 4




10.

11.

12.

13.

14.

How much increase of the dissolved nutrients will affect marine ecosystems?

(1) 61 per cent
(2) 31 per cent
(3) 21 per cent
(4) 40 per cent

Pick out the idea which is not expressed in the passage?

(1) Degradation of coastal land is an environmental hazard

(2) Reduction in marine biodiversity is putting pressure on resources
(3) Ocean is a priceless resource for millions of people

(4) Climate change results only due to dissolved oxygen

Appropriate management of ocean as a result will lead to

(1) Acidification

(2) Economic opportunities
(3) Dissolved oxygen

(4) Eutrophication

What is the main idea of the passage?

(1) Climate change

(2) Conserving oceans
(3) Decreasing sea ice
(4) Coastal life of people

The following sentence is jumbled. Rearrange to make a meaningful sentence.
We have to-

(P) Asweseeit

(Q) Speak the truth

(R) There is falsehood
(S) Even if all around us

(HRQSP
(2) QRPS
(3)RSQP
(4) QPSR
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15. The following sentence is jumbled. Rearrange to make a meaningful sentence.

(A) A compromise agreement may be reached

(B) However, sometimes one of the sides decides to take legal action

(C) Where there is dis-agreement, bargaining or negotiating will take place

(D) Where this is not possible, the sides can go to arbitration and bring in a
third party from outside to say what they think should happen

() BDAC
(2)BDCA
(3)CADB
(4)CDAB

16. Out of the given alternatives, choose the one which is nearest in meaning to the
word VILIFY

(1) Desert

(2) Deprive
(3) Defame
(4) Deceive

17. Find the part of the sentence which has an error.

This detailed (A) / yet readable biography is well researched (B) / and provides
valuable insight to (C) / the facts that motivated the famous philosopher. (D)

(D) A
(2) B
3)C
(4) D

18. The following sentence has an error in one of its parts. Find the part which has the
error.

(1) Laying on the back porch,

(2) The old dog snored loudly,

(3) Disturbing those of us

(4) Who were trying to play chess nearby.

MM-3/A 6




19. Choose the word or phrase that best completes the sentence given below:

Having been a foreign correspondent all his life, he is a traveller.

(1) Casual

(2) Continual
(3) Veteran
(4) Customary

20. Choose the word or phrase that best completes the sentence given below:

She used her weekly column in the local newspaper as a for her political
view.

(1) Method
(2) Vessel

(3) Vehicle
(4) Reason
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PART-B
Teaching Aptitude

(Expected Answering Time : 40 Minutes)

21.

22,

23,

MM-3/A

Which of the following terms
describes the behaviour of a
student who follows the same
hair style as that of the class
teacher?

(D
(2)
3)
(4)
Which one of the following

statements is educationally
valid?

(D

Compensation
Transference
Identification

Regression

Only homogeneous
grouping is democratic

All drill periods should be
brief

Study habits can be taught

(2)

3)

4

Over-learning is a waste of
time

Which of the following is an
advantage of open-book
assessment?

(1)
(2)
3)
4)

Reduces memory load
Encourages consultation
Scope for selective reading
Reduces preparation time

Z1.

22.

23.

-9
frator afderTar
(f@a 3w G949 : 40 A=)
el 37T T el dell
3TeI0T Y atel faemdf &
GER & Arafaf@a & &
HIT-AT Qe afoTd FIdr 72
(1) effadfd
(2) EUATeAIOT
(3) dEereE
4) wfderHe

fAFATTAd & O HlA-AT HUA
AMAF e & 7T 272

(1) Fad AT TG
A gl

ol oot arerrer dierea g
EURY
TS e a@rg S
qohdl g1
JTeH-31feH ga g &
ey &l

HFd & 3Teholed Gr= i
T HIF-TT 19 BIIET 872

(2)

3)

4

(1) wafa o & gemr

(2) WAL A TG

(3) TIfAd g & fow FHEEr
(4) dI F FHET H g




24.

25,

To develop analytical thinking
amongst students, the teacher
should allow for all of the
following experiences except-
(1) Comparison of the
treatment of a social
studies topic in two
different textbooks
(2) Failure of an experiment in
science

(3) Try to solve a difficult

problem

(4) Solving of all problems
through use of a well-

practiced formula

Which of the following is not

always the purpose of

26.

MM-3/A

assessment?
(1) Improve students' learning
(2)
(3)
4)

Improve teachers' teaching
Curriculum reforms

Comparison between
students

What is the term describing the
peculiar nature of adolescents,
‘wanting to be noticed and
thinking that they are being
noticed’?

(1) Self esteem
(2)
3)

4

Inferiority complex
Self-identity
Role confusion

24.

25.

26.

faeanfdai A favevoneAs |
# Ipfd s & faw s @@t
A faw v |afr Jregeral r
AT &l TfeT Rara-

(1) @ SAIT-37el9T UTST-GEceh!
7 grfaes 3egaT O
gefaa vl & gfduree
T JolelT el

(2) TaaeT &7 e AT &
3BT

(3) frdlr wider waEar &
AR T 9

(4) fdr cafed T & g@amr
sy GHEATHT HT fATRIOT
e |

i@ &7 sla-ar e &

3ECRT FHRAT o781 gielr?

(1) Rzt & fees
GURAAT|

(2) TRt @ fReTor FURET|

(3) TEEET U

(4) Tt & S goer
AT

9§ PIA-AT UG ¢ AT TReIRT &
faflrse ggfer el 3R e
3T NT Fa Hr TE IR TE
At & 39 W R &
AR & T afoid &dr 87
(1) 37cH TEATT

(2) & HGar

(3) 3TeH-ggdr

(4) fawT 5w
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27.

28.

29.

30.

MM-3/A

What is the mental condition 27,

present from early childhood,
characterized by great difficulty
in communicating and forming
relationships with other people?

(1) Dyslexia
(2) Phobia
(3) Autism
(4) ADHD

Which one of the following is 28.

required the most for inclusive
education to be successful?

(1)
(2)
3)
“4)

Appropriate pedagogy
Effective resources
Qualified special teachers
Empathetic teacher

Which one of the following is 29,

not strictly a cooperative
learning strategy?

(D)
)
3)
4)

Jigsaw method

STAD approach

Brain storming approach
Discovery method

Which of the following 30.

psychologists gave primary
importance to reinforcement in
learning?

(1) Jean Piaget

(2) David Ausubel

(3) B.F. Skinner

4)

Ivan Pavlov

10

ag Fla-d7 AES Ul §
S saua & 3= el & |91y
TUYT 3R FET dAT H F97
(1) RBrafeaar

(2) wifaar

(3) 3fesH

4 TwHTT S

ARl e A Aherar & o
fAafaf@a & & Fla-ar g59
3T 3TaTs 87

(1) 39gsFd RuegoRmes

(2) weTEr HET

(3) aFar-urca fadw fuets
(4) wAGHIAYOT Rigwn

fArfoma # @ sia-dr gFda
e ®9 & w3t
C Y

(1) foerat R&fr

(2) STAD 39rrH

(3) TaaRTEer 3UREH

(4) @ R

fArafafaa & fFa AddAHS o
HRTA F qoAde Fr IUHAS
Hged fear?

(1) She R

(2) sfas smgaw

(3) . TH. Rk

(4) S dIFEd




31. Which is the correct sequence of
stages according to Piaget’s
Theory of Cognitive
Development?

(D)

(2)

3)

4

Concrete operational,
sensorimotor, pre-
operational, formal
operational

Sensorimotor, pre-
operational, concrete
operational, formal
operational

Pre-operational,
sensorimotor, formal
operational, concrete
operational

Sensorimotor, pre-
operational, formal
operational, concrete
operational

32. Microteaching is best described

as-

(1)

)
3)
4

Preparing teachers for real
classroom setting
Teaching in small groups
Teaching student teachers

Teaching for a short
duration

33. Identity crisis occurs in which
stage of human development?

(D
(2)
3)
4)

MM-3/A

Adolescence
Early adulthood
Youth

Later childhood

11

31. I & gaEcas e &
ey & 3TaR T & qe

s 37

(1) A dfrarcss, HaeacA®
afdy, qa-aisharcash,
i afesarers

(2) WdgsTeHS fd, Id-
vaRe aferdrcAs

(3) Ud-HfhaTcA®, HacAcHS
A wirarcAs

(4) WagaTcH® I, I&-

dfrarcass, gaies

32. gaH fA&TOT &1 gaASS o g-

33.

(D

(2)
3)
(4)

eI FI aEATAH HET &
T IR &HET

oI HHGH H TgTT
faeri-figtet &1 gerr
39 §AT & fAU ggEr

Ag QT & Fg WoT &

ggdTed T Hehe UeT giar 872

(1
2)
3)
(4)

UGRS3
gRTRe Yleraedr
JaraEAT

pe)

3dY deqTaEdT

[P.T.O




34.

35.

36.

MM-3/A

Which one of the following
statements about Zone of
Proximal Development (ZPD) is
not correct?

(1) Potential development
with adult guidance

()

Potential development
with peer guidance

What a learner can do
without the help

3)

Difference between what a
learner can do without
help and what she/he
cannot do

4

An underachiever is best
described as one having-

(D

Normal intellectual ability
with high achievement

(2) High intellectual ability

with low achievement

Below normal intellectual
ability with low
achievement

3)

(4) Intellectual disability with

average achievement

Which of the following
discusses the nature of
knowledge?

(1) Metaphysics
(2)
3)
(4)

Epistemology
Axiology
Ontology

12

34.

35.

36.

frafaf@a & & Fla-ar sy
fAheadt e &7 & s & 81
el 87

(1) TIEH AN & ay
gefaa A
Hedhiarar & AT &
ary w@ATiad e

T Br@Aarelr 9«1 ggradn
& FAT FT bl &

T Hr@aiarer 8= agrrar
& FIT I Tehdl & 3R &1
A& F TEATEEN B F
& &7 AR

(2)

)

4

379EAT 3UAYS Pl qaH TH
R ¥ aftia fFar a7 ahar -
(1) T diefRes efdAdr &
ATy 3T 3T glell
3T digfte &THAT & 1Y
FA 3TATSY greT
AT A &H digfas
&THAT & TTY HA 3qcfey
YT

diefte 3rraT & |y
3aa gty gier

fArfaf@a & @ i AT &1
;@ﬁrwﬁwﬁmﬁm%‘?

(1)
2)
3) ﬂgv'mfmrm
(4) argFATET

)

3)

4




g O 8

38.

39.

40.

MM-3/A

(4)

According to some
psychologists, learning is
defined as a process of -

(1) Transmission of

knowledge
(2) Modification of behaviour
(3) Improving personal
adjustment

(4) Inculcation of values

Which among the following is
not a learning style?

(1) Visual

Tactile
Auditory

(2)
(3)
4)
Who is the founder of the

kindergarten system in
education?

(1) John Dewey
(2)
(3) Maria Montessory
(4) F.W.A. Froebel

Kinaesthetic

Lev Vygotsky

Children develop better meta-
cognitive skills when they are
allowed to-

(1) Ask questions

(2)
(3) Work in group

Learn on their own

Reflect on their learning

13

37.

38.

39.

40.

$& HAld AR F IHTAR
HREH F AT 7 @ e wlshar
O R far sar 872

(1) T & §EATROT

(2) TIGER & TR
(3) EFIT AN H GUR

(4) HeAT & FGAQRIT AT

fAefaf@a & & sla s
ey w1gt §7

(1) ==T

(2) @

(3) Haur

(4) afqEAET

fRret # fpusends yumrel &
TEUTIE ieT §7?

(1) s &

(2) g arslicae

(3) @Rar A

(4) TUF.ZEYU. Wi

STd IR RI-HAACHS iAol
Il X 8 S 3¢ AT
& Sl &

(1) 9% qoet &

(2) T@T dE@a &

(3) THAE H FF HA A

(4) A FT 3MTcA-GRIETA HT

[P.T.O




41. The sequence of development
occurring from head to toe is
called-

42.

43.

MM-3/A

(1
2)
3)
4

Centro-peripheral
development
Dorso-ventral
development
Proximo-distal
development

Cephalo-caudal
development

Which of the following says that
‘Children build on their own
knowledge and meaning from
their experiences’?

(M
)
3)
4)

Behaviourism
Constructivism
Positivism
Experientialism

Which of the following

curriculum framework for
school education emphasized on
critical pedagogy?

(D

(2)

3)

4

National Curriculum
Framework - 1978

National Curriculum
Framework - 2000

National Curriculum
Framework - 2005

National Curriculum
Framework - 2009
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41.

42.

43.

R & W a& gaare e &
$H I FE &-

(1) -l e

(2) Swf-dger R

(3) wilFEaA-fSEca fahE

(4) Tavdr-wise e
fafaf@a & & wia gfaufea
AT § F ‘g 39ar A AR
3 39 31eral A fAfad
_d g ?

(1) cgagRag

(2) TTAEE

(3) wcgeTdrg

(4) 3epHaaT

Rrererdy Rem & faw
fafaf@a & & &g a@r
TSITAT I FRAT HTATTAcHD
R8T T W F &l 87

(1) TS AeaTAT A FR@T
1978

USER TSI HT FR@T
2000

TS qreaAT i FREr
2005

USE AT HT FAR@T
2009

(2)

3)

(4)




44.

45.

46.

MM-3/A

The primary purpose of error
analysis of test performance is
to-

(1) Verify the grades assigned

(2) Identify strengths of

respondents

(3) Identify learning

difficulties of respondents

Plan for remedial
programme

4

Purpose of appointing Inclusive
Education Resources Teachers
(IERTs) is for-

(1) Academic support to
teacher to meet the
challenges of inclusive
education

(2) Fixing the academic
standards for inclusive
children

(3) Managing the Inclusive
Education Resource
Centres

Providing home based
education to severely

disabled

4)

Which of the following is the
highest level of cognitive ability
as per the revised Bloom’s
Taxonomy?

(1)
)
3)
4)

Application
Evaluating
Creating
Analysing

15

44.

45.

46.

qU&T Yedle & Ffe favemor &
grafA® 36527 &-

(1) fRu 71w I8 HT Fcam=
AT
IAREIAT3 & FaALd &
qgdTel T
FARETAT3AT Fr 3feTH
H&SASAT Pl Tgdledall
fAereTcas FIHA Hr
GISTeAT STl

2)
3)

(4)

gaaeh Rem g Ras
(IERTs) &I e i T
3EERT & o

(1) wHmae fem & geEifaar
F THAT T F AT
fRreres 1 Afds FgrFar
geTe e
ATl sTar & fov dAfew
AteTept o fAERA &HEr

)

gaTaeN AT FEA Feal
FT YT HLAT

3)

i 3rerera oel @ e
3menRa AT Jeld T

(4)

NS sofdH & gaffertor &
AR e & & FleT ar
TAATCHS &THAT &l 3=ddH
T 8?

(1) 3TN A

(2) HeArehel Al

(3) ol AT

(4) fa2ewur LEr

[P.T.O




47.

48.

49.

Achievement tests are 47.

commonly used for the purpose

of -

(1) Making selections for a
specific job

(2) Selecting candidates for a
course

(3) Identifying strengths and
weaknesses of learners

(4) Assessing the amount of
learning after teaching

Which of the following is not a 48.

characteristic feature of
communication?

(1) Communication involves
exchange of ideas, facts
and opinions.

(2) Communication involves
both information and
understanding

(3) Communication is a long
lasting process

(4) Communication involves
feedback

Meena is a social and bright 49.

student. Of late, she is found not
interacting with other students
and staying aloof. Which is the
most appropriate means to find
out Meena’s problem?

(1) Case study

(2) Action research

MM-3/A

(3) Observation
(4) Diagnostic Testing

16

3FACART & T &

(3) Rl & awed iR
HATHLY T GgdTelall

(4) W@ & g IJReTH &
TAT 3Teholel el

fAeafaf@a & & Hld GUTT &Hr

faerwar agt &2

(1) TI9oT F fIuRt & Here-
gerd a2dr 3R 39e R
AT g

(2) EIYOT H FIT AR gAS
arr enfaer g

(3) EUNUT U ofel TR gfehar
J

(4) wawor & wfayRe anfde &

Har v grefae AR AU
oA ¢l &1 8 # a8 3
eanf¥iat & ary srada 78
FAT AR 3ePT- YUoreT W g
T 6 THEEIT FT IdT I T
I 3Ugerd Al T AT &7

(1) cafeFdera reqdT
(2) TerarcHs AqaUTA
(3) 3radlieet

(4) Acrfare glrator




50.

MM-3/A

To be successful in learning 50
drawing, a student would
specifically need-

(1) Spatial intelligence
(2) General intelligence
(3) Naturalistic intelligence

(4) Intra personal intelligence

17

. faerlr drasr A 9%d g &
fore focardt = Ay ®7 &
Tfgu-

(M
2)
3)
4

e gfs
AT gfa
i af

[P.T.O




PART-C
Reasoning Ability

(Expected Answering Time : 60 Minutes)

S1.

32.

MM-3/A

A cube is to be painted in such a
way that any two adjacent faces
do not have the same colour.
What is the minimum number of
colours that will be required for
colouring the cube?

() 2
2 3
3) 4

5

4)

Five friends are sitting on a
bench in the following order.

S is sitting next to P, and T is
next to R.

S is not sitting with T. R is on
the extreme left hand side of the
bench and S is on second
position from the right. Q is on
the right hand side of P and to
the right side of T. S and Q are
sitting together.

Who is on the extreme right side
of the bench?

() R
2) S
(3) P
4 Q

18

51.

52.

ANT-
GUE T AL Gl

ERf@AT 39T 97T : 60 )

T O] Fl 3T YHR I T HEAT
¢ o 3ME-9T & &I Heldl &I T
Teh AT o gl O B WA &
foT &7 @ FA fhaa T §r
3TARIFAT gref?

(1) 2
2 3
{3y 4
“4) 5
g AT T §g W Feafafa@a
3RA H 39S Bl
SHFTA AP IT T 3T
a‘na?m-ﬁRéb"rgm%"l

TH Y S AT JoT &l RIT &
I 3R & I Bl W dor
83T § 3R S aTfes 3R & g
T W doT §ITRI P & a1
IR QBT g AT aE T H
g 3R I SR QAT A
95 BT ¥l

99 & HaY elfgel 3R Hl g2

() R
(2) S
3 P
4 Q




53.

54.

55.

)

MM-3/A

A person walks 4 km, then turns
right and walks 3 km, then turn
left and walks 4 km, then turn
right and walks 3 km. Now what
is his distance from his starting
point?

(1) 9km

(2) 10 km
3) 12km
(4) 16 km

What will be the angle between
hour and minute hands of a watch
when it shows the time as 15
minutes past 6 O’ clock?

(1) 97°
(2) 95.5°
(3) 91°
4) 97.5°

Given below are two Assertions
(A) and (B). Identify which one of
the given statements is correct?

Assertion (A): Increase in carbon
dioxide in the atmosphere would
melt polar ice.

Assertion (B): Increase in carbon
dioxide is one of the reasons
behind Greenhouse effect.

Both A and B are true, and B
is an explanation of A

Both A and B are true, and B
is not an explanation of A

(1)

A is true but B is false
A is false but B 1s true

3)
4

19

53.

54.

55,

U afad 4 e gaar § 3R
aifeet A3 gU 3 R Tear § AR
TS Hs §U 4 R Ferar ¥ AR
ﬁwaﬁ%?ﬁ'sgg?rgtrsﬁiﬁrm
&1 YT T F gg fhcell T 872

(1) 9 f&a
2) 10 Rra.
(3) 12 fea.
4) 16 fa

°gr 7 gu¢ Uq fAdC @1 g$ & &
T HIUT FIT GRT S T3 H 6 I
T 15 Aee &1 AT g W@ ar?

(1) 97°

(2) 95.5°

(3) 91°

(4) 97.5°

AT & U (A) 3R (B) we fRu
T ¥ SEA & BT FUT G 872

FUF (A): IIEOT H
FEASTSHIFASS H gEU YT %
1 frerer ahdr gl

FY (B): TAEROT H
FITSISHFASS HT el & AT
8139 AT FI HROT g

(1) A3R BRI aT e 3B
TEAT & A FI

AR BT & I § A B
gTEAT 8l & A &

A §F § W B 3T &

A 3T § W B T &

(2)

)
4

[P.T.O




56. In the following figure, Rectangle, 5¢. fAFaIfai@d 3epid & IR, g,

square, circle and triangle aq 3 DeTer FA: T, ?ﬁé
represent the regions of o > .
culitivation of ri%e, wheat, IR 3R aret 1 YA T &R F
groundnut and pulse respectively. IR & MUR AT §C

On the basis of the figure given TR 92T &I 397 YT &)
below, answer the following

question.

sk

A

In which area are all the four g a7 Fia-ar & oad el awj}ﬁ
commodities cultivated? £ A B &2
(1 7 (1) 7
2 8 2) 8
3 9 3) 9
4) 2 4) 2
57. Given below are two statements 57, = ar ua 3R aF Ay o= foo
followed by two conclusions. AT §| FUT ¥ FPlerr ey e
Decide which of the conclusion(s) e
follow(s) logically from the
statements.
HYd:
Statements: 1 Rczrea # weft facamdt seftaAe
1 All students in a school are 2
intelligent. R :
2 Ramesh is not intelligent. 2 T 2 w1t
Conclusions: sy
[. Ramesh is not a student of the | I 39 facarey &1 faqandf g gl
;{rh}gol- ) _— Il T A Re@es #F w6 e F A
. Ramesh must work hard to get i
admission in the school. g i ST ¢
(1) OnlylI (1) &% I
(2) OnlyIl (2) &
(3) BothTandII (3) 13kt
(4) Neither I nor I 4) F&I3IRTL

MM-3/A 20




58. In'the following sequence of

59.

numbers which number will
appropriately replace the
question mark?

2, 9,
(1) 64
(2) 65
(3) 66
@) 67

In the following figure, one of
the positions is indicated by a
question mark. Which of the
numbers given below the figure
would be most appropriate to
occupy the position indicated by
the question mark?

(1) 4
) - 22
3) 12
4) 8

MM-3/A 21

58.

5.

frfafld A # geards
fRET & TUH I i ge&dr
3TTaf?

2, 9, 126
(1) 64
(2) 65
(3) 66

(4) 67

frafafad 3mpfd & v ¥
A geaES Red & g ar =&ar
g JHA & gesards e &
A & IS HlAGr TEAT H GIET
fram ST ghar &2

28, 7,

() 4
(2) 22
3) 12
4) 8

[P.T.O



60. The number of students knowing

61.

MM-3/A

different languages in a school is

represented by the following Venn

diagram.

Based on the given data, what is
the ratio of those who know all
three languages to those who do
not know Sanskrit?

Hindi
English
Sanskrit
(H 1
9
2 1
10
3 B
17
1) 2
27

How many isosceles triangles are
there in the following figure?

(1)

2) 8
(3) 10
4) 12

22

arely HTET3HT &Y S & IS AT
3N H yeiid # I7E g

3Tehal o TR WX AT A3
FI STetel atel faenfdat & Jerar
H HEH o SAlelel dlell A 3HeTTd
T gT?

gl
(1) 1
9
2 1
10
3 1o
17
“ 3
27

1 4
2) 8
3) 10
4) 12




62.

63.

64.

‘A’ tells that football is the only game
in which you will always find 22
players on the ground when it is
played at the international level. ‘B’

argues that this is true for hockey only.

Based on above, whose statement is
correct?

(1) Only A

(2) OnlyB

(3) BothAand B
(4) Neither A nor B

What comes next in the sequence?
E 3 J 7 ?
2 LG LS LN (L2

() |s
11
2) |9
R
(3) S
9.
4 | r
9

Which number should replace the
question mark to complete the given
sequence?

1, 10, 27, 60, ?

(1) 90

2) 105
(3) 108
4) 120

MM-3/A 23

62. ‘A" HEdT ¢ o Pealer &1 T TE
ol § TR AT TR W Eot
S X AereT & 22 @ersr 81§l
‘B’ @gar & T dar A% gl 7 &
glcl &

IqET & MUR 9 [haaT &Ul
el 87

(1) &A% A

(2) &% B

(3) A 3R B aar

4) FTAIMNRTEB

63. 3IshA H 3T &1 ITCIM?

E 3 J 7 2

2 LG LS LN

(1) S
11
2 | o9
R
(3) S
9
4) | r
9

64. 3THA F G FA H gAards
e & ¥\ W Al @ qE
3muaf?

1, 10, 27, 60, ?
(1) 90
(2) 105
(3) 108
(4) 120

[P.T.O




65. Replace the question mark 65. ToU 71T qheul H & YeAaTs e

appropriately by a number from ¥ T W SUUFT TEAT FT T
among the given alternatives. . 2

600

I
39 600 480 39 480
69 —4}~12 l3—¢—~3 224——6%—32 69#12 U—#“% 224«—6%-32
25 129 32

25 129 32
(1) 2 (1) 2
2) 3 2) 3
(3) 4 (3) 4
4) 5 4) 5
66. Which letter should be placedin 66, F=Ifaf@d ghe F weearas e
place of the question mark in the ¥ TUE W F AT HER T

given sequence?

A C .8 M
A C S M v
H R N 2
H R N 2 _
D K P
E D K . E 4 % &£

K J P Q F X X

1 Q (1 a
(2) R 2) R
3) S 3) S
“4 T 4 T

67. Which letter-number pair could 67. fFfaf@d e H yaras ReEd
appropriately replace the question ¥ T W FAAT eR-EEar e
marks in the given sequence? N '

()
JY31 F??8 MH31 AL30 V31 E278 MH31 AL30

(1) U4 () u4
(2} Y2 (2) Y2
3) G3 3) G3
(4) K4 (4) K4

MM-3/A 24




68. The codes of certain words are 68.

given below (the order of
alphabet and code may not be
same). Which is the correct code
for letter D?

RAIN 4521 DEAR 3621
NEED 3536

(n 3
(2) 4
3) 5
4 6
69. Ifin a coding language, 69
OQSUiscodedas LIHF,

then B D H O would be coded
as-

(1
(2)
3)
4

X VRK
YWSL
Y VRK
YWSM

70. In a certain language- 70.

'816321' means ‘the brown dog
frightened the cat’

'64851"' means ‘the frightened
cat ran away’

'"7621' means ‘the cat was
brown’

'341' means ‘the dog ran’

The code for ran is-

(D)
(2)
3)
4)

o AN B~

MM-3/A 25

Tl @ T WEAT A geld T
IS § (@oTATeT AR FHo F ITHA
T FA FAGT AT g Hhll €)
3R D & fav 3fa e @
T |

RAIN 4521 DEAR 3621
NEED 3536

(3
2) 4
(3) 5
4) 6

LA FR e T A# 0O QS U

FHe LIJHFE @
BDHO @I &% grem-

(1) XVRK
2) YWSL
3) YVRK
4 YWSM

frelY T s

'816321" & 31 X Fd o ool
&1 =0 fear

'64851" %1 31 U g9 faeel #mT
EIES

'7621" F1 3T feelr ¥ 1 dr
oY

'341' T 37 el T AT

HETA T He G-
(D
(2)
3)
4)

o O DN

[P.T.O




71.

12,

3.

(2

MM-3/A

The double colon sign in the
following expression indicates
that the two words each on the
left and to the right have similar
relationship. Which of the
following would be most
appropriate to occupy the place
of “?” in the expression?

71

Book : Critic :: Building : ?

(D
(2)
3)
4

The words given in capitals are
question pairs. They are
followed by four pairs of words.
Choose from them the one
which best represents the
relationship similar to that
expressed by the question pair.

Engineer
Plumber
Appraiser

Contractor

SHOES : FEET

(1) Purse : Pocket
(2) Zip : Jacket
(3) Gloves : Hand
(4) Ring: Finger

Find the odd one out from the
following numbers.

41, 43,47, 51,53, 61,71, 73
(1) 43
47
51
73

3)
4)

26

72.

13.

. faeafafaa sffeafeFa 7 a8 3k
& Qe dUT g8 3R & UG &
T T AT Y A A &
fow argY gfafdigs e 1 y=r
forar amar &1 aifdcafeda A
gReAaTde g & TAT W Jad
39gFd fdshed T glam?

W:W::W:?
(1) gshfaeR
(2) ToFX
(3) FeAEHH

(4) SHeER

g3 3eRT A fear s e g
7 §| 3 IW(T IR A
vare T are g1 ueel gIA A
ZRMT 3T FEY IHTAR fashedl H
foT 71T TIs~s TEY FT TIA
F|

ST W

(1) g3 : dishe
2) &9 : e
(3) aEdeT ; EY
(4) I8 : S

frrfafle 3ephe & @ I =
el |

41, 43, 47, 51, 53, 61, 71, 73
(1) 43

(2) 47

(3) 51

4) 73




74.

55

76.

3

MM-3/A

Find the odd one out from the
following.

74

AHOV CJQX ELSA GNUB
(1) AHOV
(2) CJQX
(3) ELSA
(4) GNUB

Find the odd one out.
(1) hi LM  pq
2) e HI
3) OR
(4) wXx

The statement given below is
followed by two conclusions
numbered I and II. Which of the
conclusions can be drawn from
the statement?

Im

mn vu

st ab

Statement:

Fifty nine per cent of male
voters participated in an
election.

Conclusions:

I. Forty one per cent female
voters participated in the
election.

I1. Less percentage of female
than male participated in the
election.

(1) OnlylI

(2) OnlyII

Neither I nor 11

(4) BothlIandII

27

795

76.

. Amafaf@d sgea & @ 9T =
TA?

ke

AHOV CJQX ELSA -GNUB
(1) AHOV
(2) CJax
(3) ELSA
(4) GNUB

AT F ToA-

(1) hi LM pq
(2) ef  HI
3) OR
(4) WX
AT BT 71T e & aROTH F
ar sy | 3R 1l e e e
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77. Given below is a statement
followed by two assumptions
numbered I and II. Which of the
assumption(s) is/are implicit in
the statement?

Statement:

Students’ diverse learning
abilities need to be accounted for
while grouping them for learning
activities.

Assumptions:

I. Students’ have different
learning abilities.

I1. Students with similar learning
abilities need to be grouped
together while learning.

(1) Onlyl

(2) OnlyIl

(3) Neither I nor II
(4) BothlandlIl

78. Given below are two statements,
Statement 1 and Statement 2, -
followed by two Conclusions I
and II. Which of the
Conclusion(s) can be logically
drawn from the given statements?

Statement 1: No bat is ball.
Statement 2: No ball is wicket

Conclusion I : No bat 1s wicket
Conclusion II : All wickets are
bats

(1) Onlyl
(2) OnlylI
(3) BothIandII
(4) Neither I nor II
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The three dates, 3rd April, 2005;
6th August, 2010 and 5th
December, 2013 have a
common feature. The Indian
Independence Day of which
among the given years has the
same feature?

(1) 2015
(2) 2016
(3) 2017
4) 2018

In a dice with numbers 1 to 6,
the sum of each pair of opposite
faces is the same. Two such
pairs of faces were made to
generate the numbers 217 and
133 by using certain logic. What
number would be generated by
the remaining pair using the
same logic?

(1) 86
2) 91
3) 127
4) 153
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Part- A
Language Proficiency
(Expected Answering Time: 20 Minutes)

Questions 1 — 3: Read the following passage and answer the questions.

Teaching certainly benefits by sound understanding of the various complex processes
involved in learning. Otherwise teachers will continue using various classroom
techniques in a way indicative of groundless eclecticism, i.e. devoid of the underlying
theory and research for such techniques. This is what we call “ritual teaching
behaviour”, which contrasts with “principled teaching behaviour”- which describes
teaching that is informed by principles that the teacher is aware of.

Ritual teaching behaviour, on the other hand, is unthinking; it is divorced from the
principles which lie behind it. The teacher has never known or has lost sight of those
principles, and is consequently going through the motions in the same way as a child
will recite multiplication tables. This kind of teaching is bound to be oblivious to the
constraints which naturally affect the learning of adults, and, in the final analysis, adult
learners will suffer mostly from nature to be sure, but also from faulty nurture.

1. “Eclecticism’” means

(1) Using groundless techniques in the classroom
(2) Using theories and techniques of classroom use
(3) Not knowing what theories and techniques to use
(4) Using clever techniques and methods

2. Read the following statements carefully and identify the FALSE statement.

(1) Ritual teaching behaviour is like children reciting multiplication
tables

(2) Ritual teaching involves very little or nil thinking

(3) Ritual teaching behaviour is informed thinking

(4) Ritual teaching has great presence of principles

3. “Nurture” here means
(1) Taking care
(2) Something faulty

(3) Opposite of ‘nature’
(4) Nutrition
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Questions 4 — 6: Choose an alternative which best expresses the meaning of the
given idiom/proverb.

4. "To turn over a new leaf"

(1) To change one’s course of action completely

(2) To shift attention to new problems after having studied the old ones
thoroughly

(3) To cover up one’s faults by wearing new masks

(4) To change the old habits and adopt new ones

5. "To take with a grain of salt"

(1) To take with some reservation
(2) To take with total disbelief
(3) To take wholeheartedly

(4) To take seriously :

6. "To smell a rat"

(1) To detect bad smell

(2) To misunderstand

(3) To suspect a trick or deceit
(4) To see hidden meaning

7. Identify the part of the sentence that has a mistake in it.

If you had studied well, you would passed.

(D) uiaan you would passed.

(2) Ifyou had studied ........... .
BY L RS e .
) BTN e passed

8. All the invitees had attended the concert.
How do you say ‘almost none of the invitees attended the concert’?

(1) Only twenty out of the two hundred invitees attended the concert
(2) Many invitees attended the concert

(3) Very few invitees attended the concert

(4) Quite a few invitees avoided attending the concert

PP-3/A 3 [P.T.O




9. Choose the best sequence of sentences in the following.

When I reached my office-
(P) To get home early
(Q) I phoned my mother
(R) That I wouldn’t be able
(S) To tell her

Choose correct sequence.

(1) PQRS
(2) QSRP
(3) RPQS
(4) SQPR

Questions 10-11: Read the following sentences carefully, and fill in the blank in
each of them with the best word from the choices given.

10. Talented adult language learners, unlike common adult language learners, are

not left-lateralized for language. Instead, they seem to have additional right-
hemisphere based flexibility for language ;

(1) Processing
(2) Production
(3) Competence
(4) Information

As language teachers, our hopes have been raised over the years for achieving

greater success in our students’ learning by new techniques, methods,

approaches, course-books and the rest, which are based increasingly on current
theories.

il

(1)
(2)

Pragmatic
Semantic

3)
(4)

Syntactic
Linguistic

Questions 12-13: Choose the word which is the opposite of the given word.

12. Original-

(1)
(2)
3)
4)

PP-3/A

Implication
Invitation
Imagination
Imitation




13. Retrieve-

(1) Revisit
(2) Lose

(3) Forget
(4) Get back

Questions 14 — 16: Choose the most suitable word or phrase from the given
options to complete the sentence.

14. Whenever the telephone , Radha answered it without fail.

(1) Ringing
(2) May ring
(3) Rang

(4) Will ring

15. There is no grass left in the field — the goats grazing there for many days
now.

(1) Had already
(2) Already been
(3) Have been
(4) Has been

16. Whenever the teacher walked in to the class, the boys seemed

(1) To be disturbing
(2) To be argument
(3) To be playing
(4) To be discussion

Questions 17-20: Read the following passage and answer the questions that follow
by choosing the correct options.

Penguins are found on almost every island in the southern hemisphere, from the tropical
islands near South America to Antarctica. They are aquatic birds and spend about 70%
of their entire lives in water. They catch fish with their beaks and swallow them whole
as they swim. There are many species of penguins, but they are social birds and swim
and feed together. They form groups known as ‘rookeries’ while nesting. Each group
has thousands of penguins! Yet, each penguin has a distinct call that allows them to
locate their family.

17. Penguins are found

(1) In the northern hemisphere
(2) In South America

(3) On all islands
(4) In the southern hemisphere
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18. Penguins are social birds which means that they like to live

(1) With humans

(2) In groups
(3) With a family
(4) Alone

19. The word ‘aquatic’ means belonging to

(1) Air
(2) Wind
(3) Water
(4) Land

20. Penguins locate their chicks through a call.
(1) Unique
(2) Loud
(3) Noisy
(4) Musical

PP-3/A 6




PART-B
Teaching Aptitude

(Expected Answering Time : 40 Minutes)

21,

22.

23.

PP-3/A

While following critical pedagogy,
teacher accepts multiple views of
the students, because-

(1) They are from multiple
contexts

(2) They speak multiple
languages

(3) They have multiple social
habits

They have multiple
performance levels

(4)

Which of the following is NOT an
inter-personal activity?

(1)
2)
€)
(4)

There is only one badminton court
in the school. During Physical
Education class, boys and girls of
class IX always quarrel to occupy
the court. Which of the following is
the most appropriate action for the
time being?

(1)

Writing diary
Working in teams
Discussing on an issue

Exchanging notes

Ask the girls to play some
other game

2)

Form mixed groups of boys
and girls

(3) Fix separate days for girls and
boys

(4)

Ask management to make
another court

21.

22,

23.
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The main reason for the
Government insisting on making
schools inclusive is:

(1) All children have equal right

to same type of education

()
3)

Special schools are costly
Special teachers are limited

(4) Special equipment’s are not
available

What role does a teacher play in a
constructivist class?

(1
()
3)
4
Professional education is preferred

than general education because it
helps to-

Adviser
Facilitator
Counsellor

Director

(1) Earn more money
(2) Gain social status

(3) Get jobs faster

(4) Get social security

The teacher, as a professional has
recognition.

Moral

Political

Legal

(D
(2)
3)
4

“Ideas are the only true reality” is
the belief of-

(M
2)
3)
4

Family

Rationalists
Idealists
Pragmatists
Naturalists
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30.

-

32.

33
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While using Continuous and
Comprehensive Evaluation (CCE),
the teacher’s focus is on:

(1
)

Projects
More number of achievement
tests

Co-curricular activities
All of these

3)
4)

Theoretically, ‘Styles of
Leadership’ are-

(D
2)
3)
4)

Geeta keeps changing her friends
often. Geeta has-

(D
2)
3)
4
The Hon’ble Supreme Court of
India, ruled (7th May 2014) that

Right to Education Act is not
applicable to-

(1)
)
3)
4)

Experiential learning is-

(D
2)
3)
4

Coaching, Loving
Directive, Supportive
Delegatory, Closed
Supportive, Open

Poor emotional adjustment
Good emotional adjustment
Good social adjustment
Good mental adjustment

Private institutions
Minority institutions
Aided institutions
Government institutions

Environment centered
Evaluation centered
Child centered

Teacher centered

29.
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35,
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A teacher carrying out a research in
the classroom to improve the
spelling of pupils is termed as-

(1)
(2)
3)
4)
District Primary Education
Programme (DPEP) was started in
India in-

(1) 1990

(2) 1994

(3) 1998

(4) 1996

In order to promote an inclusive
environment in the classroom,
which of the following should NOT
be practiced by the teacher?

(1

Quantitative research
Qualitative research
Experimental research
Action research

Promote self confidence
amongst students

2)

Recognize uniqueness and
diversity

3)

Give importance to the select
group of students

4

Reassure individuality of
every child

The main objective of classroom
interaction is to-

(M
(2)

Transmit knowledge
Stimulate curiosity to
construct knowledge

Enable students to do well in
examination

3)

(4) Make students happy

10
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39.

40.
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Which of the following should you

keep most in mind while transacting

in the classroom?

(1) Students can create their own
meaning

Students mind is like a blank
slate in which teacher needs to
write

2)

3)

Individualization of learning
cannot take place in the
classroom

4)

It is essential to have group
activities to teach

Which ability does the objective
type tests involving ‘Sentence
Completion’, measure?

(1)
)
3)
4)
The stage of Education for which

Operation Blackboard scheme was
introduced-

(D
2)
3)
4

Recall
Recognition
Reorganization
Re-structuring

Higher Education

Primary Education
Secondary Education

Higher Secondary Education
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41. Which of the following is a good
example of applying constructivist
approach to students’ learning?

42.

PP-3/A

(1)

(2)

3)

4)

Mathematics teacher engaging
students in real situations to
learn new concepts

Language teacher providing a
concrete reward for a correct
written assignment

Social Science teacher using
visual material during his/her
lectures

Science teacher demonstrating
correct procedures for
conducting an experiment

You have a few children with
disability in your class. What should
you do as a teacher?

(1)

)

3)

4)

You should give priority to
meet the needs of children
with disability

Y ou should focus on the needs
of majority of children as the
whole class cannot suffer
because of a few children

You should try to meet the
needs of the majority, but at
the same time, make
provisions for the children
with disability

Ask the parents to take care of
the needs of children with
disability

12

41.

42.

et garr wereAs ifd 4
draa &1 fae A ¥ i a1 3emeor
T IO 87

(1)

2)

€)

(4)

7% aurer {Ee & fav afod
& 3HEAIH earT fagaidat #
aredias fufa & ofemer

HINT & AT gaRT foidd
N TE T W A are [Ae@idar
I GIERA AT
grATfos faareT & 3rearas @t
YA SAEATT H €T AIHA F
ST AT -
JART A & fav e &
HEITIH E@RT Tl Wihar3it &1
WeRNe &

T FET H Fo Het\ faegrd §
TF HEAYe & & & 39 S 47

AT AIFT?

(1)

2)

€)

4)

3787 faeanfdar i sal @l
gof et @ wrafAeswar &= =T
sgrea faeafdat f Fwd W
eI AT it Fo el
& HROT gt &ifa o &
qgHET faeanat & FEar
o7 A U, WA A, e
fenfdat & fow off 3urw &=
aifew

a1 faenfdat & Arar-Oar 4@
FgT & F 3T FTWAl H &
™




43.

44.

45.
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In which of the following kinds of
communication, is leadership
quality most likely to emerge?

(1) Intrapersonal communication
(2) Small group communication

3)

Face-to-face public
communication

(4) Face book and twitter
communication

Which form of assessment 1s most
appropriate for evaluating students’
learning during instruction?

(1) Initial assessment

(2) Informal assessment
(3) Formative assessment
(4) Summative assessment

Which of the following can be
noticed in an effective learning
environment?

a. No risk taking behaviours

b. Encouragement for divergent
thinking

c. Encouragement for individual
work

d. Recognition of each student’s
contribution to the group

e. Compassion for others

(1) a,bandd
(2) a,cande
(3) b,cande
(4) b,dande
13
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46. Which of the following is NOT a 46.

characteristic of assessment based

on Constructivist theories of

learning?

(1) Students define their own
learning goals with teachers
help at the beginning of a unit
of work

(2) Students monitor their own
progress toward achieving the
goals

(3) Assessment criteria are
created after a task is
completed

(4) Encouraging students to take
responsibility for their own
learning

47. Which of the following approaches 47,

provides for categorization of
content from simple to complex
level?

(1) Discovery
(2) Conceptual

(3) Inquiry
(4) Didactic

PP-3/A 14

A & @ Ha-A T&0T AedihaT F

TgeTare) 3fteE Riguidl W 3raRd

et 87

(1) 3EAUSF & TEAHT ¥ FA 318
& A # & Rt earr
9t T weT H [AURA
FLAT

(2) w&T @ e A H & T
YA IeAfa @ et &g
fadrator &t

(3) @Id FA FAT FA & IR
HieholeT & ATAGUST & forefRoT

(4) 39 e & GFAery i
oY 3o ¥ fou gt &
dicaTigd T

fArfaf@a Fla-d@ [JfTr @ Jfvgasg

& T § Hfoel TR I Fefemor

AT A Blam?

(1) @ geufa

(2) THeUAlcHS Teuid

(3) 3=avor geufd

(4) wfsrar geufa




48. Which of the following is a teacher 48, gFHUYe 9T fo@d THT UH LTS A

. . expected to do while using the ST F § Fia-dr & &

Blackboard?

a. Using appropriate body m‘m T &7 :
language a. i Iserit &1 FfRa 9T

b. Continuing with the oral b. Af@F T AR I@aT
presentation c. Riearf¥igt ¥ ¢ffe Harg Far

c. Making eye contact with St o
students d--3gp9e WY S S H

d. Highlighting the important Fgcaqur fag3il @ @ifhd e
points of the lesson from the e. eTHAYIE 9T ST 33 fo@r s R =
material written on the board T T ST

e. Standing in front of what has Chia

just been written

(1) a,bandc . (1) a b3Rc

(2) a,cande (2) a c3Re

(3) b,candd (3) b, c 3R d

(4) c,dande (4) c, d3Re

49. What should a teacher do to 49, fefdai & 3{f€‘rm=r H 3TcATaad
promote students’self — confidence Yer e F T HEATH B AT HAT
in their learning?

Trfige?

(1) Encourage students to follow (1) Fezfdar & gaear gaArad A
standard methods of solving Ao TeHfaal & 3TTa%or &l
problems SredTes 2T :

(2) Devote time to discuss strange (2) fefdat & =g YR
ideas of students W 37T +:= & v 98787 &

(3) Encourage text book type (3) TSH-JEIHT YHR & IR Fl
answers Nearfed T

(4) Discourage vague responses (4) 3EISE SarEl &I gAlcHTigd HLem

PP-3/A 15 [P.T.O




50. What is the major justification for 50. AT AT 916 T YFIAT & g4, Ao

reviewing of previous lessons TS &7 GRS R T FT TG

regularly at the start of a new lesson 2 2

by teachers? T Far 87

(1) Introduce a new lesson (1) T 915 &l IR=T AT

(2) Reflect on the method of 2) Tod 96 # HUAS I RAETor
presentation of the previous geufa &I fe@Er
lessons i

(3) Provide pupils with a sense of (3) Taeaiiat & e & ATaRar
continuity in learning FT AT 9 & AT

(4) Determine pupils’ interest in (4) Ieaas # Qe & o
studies s & fow

PP-3/A 16




PART-C
Reasoning Ability

(Expected Answering Time : 60 Minutes)

al.

52.

53,

54.

PP-3/A

If A =1, and Z = 26, then what is
‘REFLECTION’?

() 111

2) 87

3) 112

4) 107

If |+' is |+|’ l_l iS 'X‘, 'X' is |+|’ |+V is I_l
then, what is the value of :
184+6-2x5+7?

bl

() 2
2) 3
3) 4
4) 8

Find the sum of the angles:
A+B+C+D+E

A E
Yk
A
B/f/ Jlf
C

90°

120°
150°
180°

(1)
2)
3)
4)
Find the missing number.

18114, 27221, 36328, 3
54842

(D
(2)
3)
4)

43482
44268
45535
48292

17

51.

S2.

35

54.

- |
aifes &tear
(rafAa 39 579 : 60 A=)

Ifg A=1 3R Z=26 ar
'REFLECTION' &7 HI &T glem?
(1) 111

(2) 87

(3) 112

4) 107

afg '+ & AW g HAF X
X T AR+ E, H# AR E,
W 18+6-2x5+7 & AT &
arm?
(1) 2
(2) 3
3) 4
4 8
A+ B+ C + D + E Ul & 3T
garq|

A E

V\*\\\ ]

\k‘"\»

X/ D
/K’f—/
B \Y
o

90°

120°
150°
180°

ey
2)
3)
4)
Rea =T 11|

18114, 27221, 36328, 3
54842

(1) 43482

(2) 44268

(3) 45535

(4) 48292

[P.T.O




35.

56.

57.

58.

PP-3/A

In the following figure, one of the
positions is indicated by a question
mark. Which of the numbers given
below the figure would be most
appropriate to occupy the position
indicated by the question mark?

(1) 4

(2) 22

3) 12

“4) 8

I could not be made amenable to the
change in units from British System

to Metric System. Who am I from
the following?

(1) Mass

(2) Length

(3) Volume

(4) Time

Find the number which does NOT

belong to the rest.
56, 28, 35, 20,42, 49

(1) 56
2) 49
(3) 20
4) 28

Choose that alternative which
mirror images EFLCLK

(1) AIDJIIH
2) KICIId
(3) AICIFH
4) SLIDLAA

18

55.

56.

D7,

8.

frafaf@d mefa # e v @@
yeearas e § g 3 gl
I & yesTardes e &« &
IS i A F&AT A1 gAeT fRar S
T &2

(1) 4
Q) 22
3) 12
@) 8

fafeer Rweq @ At Reea & F15
H AT Seorg Ty &I A FET &
Rl PeRRE # ¥ #F F §2
(1) wegarT

(2) dar$

(3) 3IIde

(4) @87

3T § A T @ielarell HEAT o |
56, 28, 35, 20, 42, 49

(1) 56
2) 49
(3) 20
4) 28

EFLCLK @ guur-gfafars
famfaf@a & & I

(1) AIDJIAA

(2) KJICI9d

(3) AICIFH

(4) AIDLAA




A%

60.

61.

62.

63.

PP-3/A

Identify the ODD one out.
(1) ‘Metre

(2) Litre

(3) Cusec

(4) Gallon

As 426 : 213,s01s

£1) - 22 710

(2) --135:112

(3} 36212

4 2:1

In the following, find the term

which does NOT belong to the
series.

10, 13, 26, 29, 58, 61, 120

1) 120

(2) 58

3) 26

4) o6l

From the following choose the
missing term in

BAT, EDW,HGZ, ?

(1)
2)
®3)
(4)

HIC
KJC
BEH
ADG

Find the ODD one in the following.

Floor, Roof, Ventilator, Cooler,
Skylight

(1)
(2)
)
4)

Ventilator
Skylight
Cooler
Roof

19

59.

60.

61.

62.

63.

QAT H |
(1) #he
(2) ¥
(3) FqHF
4) o

¥ 426 ; 213 g9m, aA gram|

() 22:18
(2) 135:112
612
4 2:1

Her- sear RArafaf@a & 75 Jgar
¥ A Jg @rdr gl
10, 13, 26, 29, 58, 61, 120

(1) 120
@) 58
(3) 26
@) 61

fArafaf@a fasedt & & T gaa
Gl B QT I

BAT, EDW, HGZ, _?

(1) HIC

(2) KIC

(3) BEH

(4) ADG

AT H G-

e, od, SR, For, A
(1) @

(2) IEE

() TR

(4) ==t

[P.T.O




64. Select a suitable figure from the 64. 3T-3FHA H @ 3RT 3T ARl

Answer Figures that would replace qe-3TFY 3 weed FEe (2) ¥ e
the question mark (?). ¢

Problem Figures H Bl
o 5 5 # HRe-3HTp =
it ) R X & & e
QC{}’L@ Pyl ol ? QC{%L@ o Tol ?
Answer Figures
K=o == S
© " wm xRk ©
eg}; = é}b ®_©
a b ¢ d a b ¢ d
(1) a (1) a
2 b 2 b
B) ¢ 3) c
“4) d 4 d |
65. Five girls took part in a race. P 65. dra wsfEal & aiz wfadf@ar & smr
finished before Q but behind R. S o P 3 Q ¥ TS alg garcd &

finished before T but behind Q.
Who won the race?

WIRF IS @ SATH vgel &y
AT @ W Q & 9GS W@ foraa

als yfaafrar sher?
() P (1) P
2 Q 2) Q
3) R (3) R
4 T @4 T
66. Select a suitable figure from the 66. IS H 4 3fa aHfa gae
Answer Figures that would replace JeT-3TFRY & wee e (2) & wUe
the question mark (?). Ce©
Probiem Figures ’ # M
(f > = gee-3
(A) (B) (€) (D)
Answer Figures (A) (B (©) (1)
Fav-rgpfa
£ ==
[ e i

(h @ & @
h @ & @

1 1 1 1
2) 2 2) 2
(3) 3 3) 3
4) 4 4) 4

PP-3/A 20




67.

68.

69.

PP-3/A

What comes next in:
BEG E NS ¢

(1) ¥
2 X
G) W
4 A

Find the ODD one out among
127, 531,789 and 248.

(1) 127
2) 248
(3) 789
4) 531

Which of the assumption(s) is/are
implicit in the given statement?
Statement: :

Students with learning difficulty
should to be given special attention
in the class.

Assumptions:

I. Need of attention varies from
student to student.

I1. Different students can be
attended to different extent.

(1) Assumption I is implicit
(2) Assumption II is implicit
(3) Neither I nor II is implicit

(4) BothIand II are implicit

21

67.

68.

69.

aimﬁsé:mamﬁmﬁf@r—r
feredl & & &1 3T ?
e GE NS 7

(L Y

2) X

3 W

4 A

127, 531, 789 3R 248 & H@enr &
¥ AT H geA?
(1) 127
(2) 248
(3) 789
4 531
fRT Iv FYaT 7 F Sla-Ar gron
YA
et g W § Ffoas g &
34 W Ay eae fear s anfgul
YO
. g3 fagardf WX e & T &R
H fReerar g g
II. fafdes Reafial W e S &
AT TI-37A9T 8 Tl gl
(1) oroT | 3afafed gl
(2) ©rom || FafAfed B
(3) & urom | AR AL
Jafafeda gl
(4) @t arond | 3R 1 ARt T

[P.T.O



70.

71.

72.

Ali and Samson drive 20 km north
of a common starting point. Ali
turns left and Samson turns right
after that. Ali drives for 7 km and
Samson for 3 km then they both
drive to respective south for 15 km
each. How far Ali and Samson are
from each other?

(1) 15km

(2) 10km

3) 4km

(4) Skm

Which of the following diagrams
best represent the relationship

among Doctors, Professionals and
Parents?

(1) @O

" &

" @

Lata is a year older than Sunita.
Sunita is two years older than
Bindu. Ranjan is a year older than
Bindu. Who is the youngest of all?

(1) Lata
(2) Sunita
(3) Ranjan
(4) Bindu

PP-3/A 22

70. 37l 3R AFEST U & IRH foig @

71.

72.

IR &7 3R 20 R ME Taa gl

3l 1§ 3R A3 & AR A @
3R AT g1 3l 3mer 7 foher sy

Torrell & 3R AwEaT 3 foreT Terar
3R T 9 gl @ 9 aar gfaor dr AR
15 farel S €1 3reh 3R JFET U
gE & fhaer g 87

(1) 15 i

(2) 10 T

(3) 4 f&er

(4) 5 f&elr

A fer arw Y@fREt & @ Sla-ar R
Sferedl, UG TG UTelehl (ATAT-[AdT) &
ALY & HY A qEH IS 4
g 87

(1) @ O
@
&@

@),

AT T AT el & a37 &l Fefrar
foig & o @er @Y §1 o fig @ vw
AT 97T §1 37 G & o BT Fid
a7

(1) «dr

(2) el

3) &=

(4) &g

€)
(4)




73. What comes next?
1 D 9 P ?
A 4 I 16 ?
1) | 2
Y
2 | v
25
3) z
26
4) | 2
7

74.

Answer the questions 74 & 75
based on the following
information.

The diagram below represents 3
segments of society overlapping

Triangle — government employees;
Circle — Graduates; Square —
x/ /\( SN
/ 5N
/ 41 \ 1 \

with each other.
Secondary school teachers
/ 12\

\,\\~ 3 //

g

Which of the following statements
is “incorrect”?

(1) Some graduates are
government employees

(2) Some government employees
are graduates

(3) Some secondary school
' teachers are graduates

(4) Some graduates are secondary
school teachers

PP-3/A 23

73

74.

SH% YT T HTTN?

D 9 ‘p ?

A | 16 ?
M | 2
Y
{21 %
25
3
26
4) | 2
Z

fadr Ru gu«r & IR W T 74 &
75 T 3K 994 H

AT fe=m I 3N AT F 3 TH-
e & fafdd aeif @ gifar &
RHI0T- THRT FAART

ga- Al

aa1- AreafAw facgrerdr fRiars

£ alls 1)
=
few v wedl § @ la-ar YT T@r
e 87

(1) T Fas R FAI E
2) FT WHN FHAN Fdh &l

(3) T AreafAs faegrer Rers

(4) FO Tas AeAfAS facgrerd

[P.T.O




~75. Which number represents graduates 75, Rafaf@d & & #la-d d&ar rdH

who are neither secondary school Fr g3t & S 7 ATeafAe e
teachers nor government : S
employees? frer & iR & & T FAA E
(1) 1 1 1
2) 2 2) 2
(3) 3 3) 3
4 4 4) 4

76. Select a suitable figure from the 76. W'H'T% ¥ T 3ka 3{[35% ECLa
Answer Figures that would replace Y- 3 W e (7) & e
the question mark (?). oo '

Problem Figures # I :

1 1 (1 1
2 2 2) 2
3 3 e 3
“4) 4 (4) 4
77. Which of the following diagrams 77. = Ru av {@REt & O i @1 /T
best represent the relationship ST STeaRY, HTETET SeEst T
among Wild Animals, Carnivores ’ 35
and Prey? RER & A7 & &Y F1 ¥ IS
¥ e §7?
(1)

(D " (D
g
(3) @Q (3) @O
(4) ©)

PP-3/A 24
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78. As fish: gills, so is: 78. TG AT ADeN & awer ([Frer), ar

............. g
(1)  Elephant: tusk (1) e gl 7 aid (T%h)
(2) Tiger: stripes (2) ar: aiar
(3) Cat: tail (3) e 9@
(4) Snake: venom (4) @ S

79. In a certain code, ‘349’ means ‘teain 79, R FAY T F 349’ & AT ‘FT H
cup’; ‘376’ means ‘sugar in jar’ and T & 376 FT aad ‘TdT F aEE
‘45’ means ‘world cup’. Which of the , 3;(; s j ass T ¥
following is the code for ‘Tea’? § 45. T A TE l
frafa@a & § 9 & fav Sla-ar

3 87
1 3 | (1) 3
@2 9 ) 9
(3) Either4or7 (3) 4 3ygar7
(4) Either3or7 (4) 3 3¥ar7

80. What comes next in: 80. Raad T X

(1,3,1)(4,6,16) (7,9,49) (13, ) ? (1,3,1)(4,6,16)(7,9,49) (, 13, )?
(1) 9,121 (1) 9,121
() 11,121 () 11,121
(3) 8,84 (3) 8,84
(4) 8,124 4) 8,124
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